Name Date Class

e % SKILL 15: Dividing a Whole Number by a Fraction

To do d|V|S|on such as 3 + —, you can think about how
many —-lnch strips can be placed along a 3-inch ruler.

Example 1
Divide: 3 + %.
You can see that there are 1% strips in 1 inch.
So, there are 3 X 1% strips in 3 inches. & -inch strips
3 1 I
+5=383X1% L I L L B B R B
So, 3 ) 3 13 1I é :Is ‘I‘
=3x4
173 INCHES
=12
3 The model shows that 3 + $ = 4.

Two numbers are reciprocals if their product is 1. In Example 1,
% and % are reciprocals. Notice that dividing by a fraction
gives the same result as multiplying by its reciprocal.

(‘W‘ Example 2

.........................................................................................................

Divide: 4 + %.
4+ 3 _ 4 X 8 Write the reciprocal of % and
8 3 change division to muitiplication.
= % X % Write the whole number as an improper fraction.
X .
= ? X g Multiply.
_ 3
3
= 10% Write your answer in simplest form.
+3 - 402
So, 4 - 8= 103

Guided Practice

§- Find each quotient in simplest form.

: 1.10+1 - 2.21+% .
& a. The reciprocal of lis=. a. The reciprocal of Sis=.
@ 3 I:l 5 D

)
O
0

= b.21+ == x====
51‘:":’
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